	ID
	AGE
	FEMALE
	YEAR IN SCHOOL
	GPA
	CURRENT SMOKER
	EXERCISE PER WEEK (h)
	AVERAGE DRINKS PER WEEK
	CUPS OF COFFEE PER WEEK

	1
	18
	1
	FR
	3.85
	1
	7
	3
	3

	2
	21
	0
	JR
	3.27
	1
	3
	2
	4

	3
	19
	1
	SO
	2.90
	0
	0
	4
	7

	4
	22
	0
	SR
	3.65
	1
	0
	2
	4

	5
	21
	1
	SR
	3.41
	1
	0
	1
	3

	6
	20
	0
	JR
	3.20
	0
	2
	5
	8

	7
	19
	1
	JR
	2.89
	1
	1
	4
	10

	8
	17
	0
	FR
	3.75
	0
	6
	0
	0

	9
	18
	0
	SO
	4.00
	0
	6
	2
	6

	10
	17
	1
	SO
	3.18
	0
	3
	5
	7

	11
	21
	0
	JR
	2.58
	1
	3
	12
	12

	12
	22
	1
	SR
	2.98
	0
	2
	3
	4

	13
	19
	0
	FR
	3.16
	1
	2
	0
	6

	14
	21
	1
	JR
	3.36
	1
	3
	1
	2

	15
	22
	1
	SO
	3.72
	0
	6
	3
	0

	16
	19
	0
	SO
	3.30
	1
	4
	0
	6

	17
	16
	0
	FR
	3.28
	0
	4
	0
	5

	18
	22
	0
	SR
	2.98
	0
	0
	8
	5

	19
	17
	1
	FR
	3.90
	0
	7
	0
	2

	20
	20
	1
	SR
	3.78
	1
	4
	6
	2

	21
	21
	1
	SO
	3.26
	1
	2
	3
	4

	22
	23
	0
	JR
	3.01
	0
	1
	9
	7

	23
	23
	0
	SR
	3.83
	1
	5
	4
	4

	24
	17
	1
	FR
	3.76
	0
	5
	2
	1

	25
	22
	1
	SR
	3.05
	0
	1
	5
	5


1. Consider the data shown in this table measured in a sample of n=25 undergraduates in an on-campus survey of health behaviors. Enter the data into an excel worksheet for analysis.

2. Estimate the multiple linear regression equation relating number of cups of coffee per week, female gender, and number of hours of exercise per week to GPA (consider GPA the dependent or outcome variable).

Please explain in detail or a summary (roughly 200 words), responding to the questions posed in the problem. I am trying to understand, I really want to learn. 

Thank you for your time  
